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S1 Fig. Baseline and week 3 echocardiographic measures in control mice 
(A) Baseline and week 3 echocardiographic measures in control mice were significantly correlated. 
IVSd represents the interventricular septal wall thickness during diastole. LVIDd represents the left 
ventricular internal dimension during diastole. LVM represents left ventricular mass. FS represents 
fractional shortening. Each data point represents a mouse in the control group.  !"
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S1 Fig. Baseline and week 3 echocardiographic measures in control mice 
(B) Bland-Altman plots demonstrated agreement between baseline and week 3 echocardiographic 
measures in control mice. 
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